
Quick Release Instructions 
 

877-77-Tower or 770-410-3451 
www.MonsterTower.com 

 
The quick release replaces the M12x35 bolt that attaches the rod end bearing to the base swivel 
and provide a “no tools” way to quickly fold down your Monster Tower with no chance of any 
parts being lost. 

 
  

Quick Release Parts List 
Item Description Quantity 

1 Glass Filled Nylon Knob with M12 Threaded / Zinc Plated Steel Stud 2 

2 Coated Stainless Lanyards with Aluminum Loop Lock 2 

3 Stainless Steel Lanyard Washers 4 

4 M12 Jam Nut 2 

 
To install the quick release remove the M12x85 Bolt and Nylock nut supplied with your Monster 
Tower that holds the base to the base swivel.  Replace the washer at the outside of the base 
with the lanyard washer as shown.  The bolt can go either way so you may have either the bolt 
head (as shown) or the Nylock nut holding the lanyard washer against the base.  Align the base 
swivel to the rod end bearing and torque the M12x85 Bolt and Nylock nut to 55 ft-lbs. 
 
Remove the M12X35 Bolt that holds the rod end bearing to the base swivel.  Apply a thin film 
of grease or Anti-Seize to the threads of item 1 and use the Knob to replace the M12x35 Bolt.  

1 

2 

3 

4 



Be careful not to cross thread the stud into the base swivel and keep a light film of grease on the 
threads to prevent corrosion. 


